Student 1

2 . Peer Feedback Argument.F'rarﬁé

"O

"o Brelt sqid he ata the most
Qlivia aald she ate the most

22| Whtch student do you agree With ‘and why? '

% OIIVla and Brnh'are eatmg candy bars Olivia alo 11'3 of lhe candy barand Brett ate 414'-6f I.1_er’.can'dy_ bér."‘_. . :.,-.‘;
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Student 2

_Peer FeedbackArgumentFrame o -

‘ Eroblem, e
VT Ol dBl’ ll are t g lyb OI l 1/'3 flh

~—

candy ber and Breft ate1l4 ofh cantly bar

'o Bltsadh tthemt A
" Qlivia-said she ate the most

"“:;.f’ Which stade ntd y agiee with a dwhy? '
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Student 3

! = Page 2

S Pe'e'r'Feedback Argument Frarf)é

.vA,nEOIe b

T Ollwa and Brn\lt are L,atmg candy bars OIMa 'au.

Wthh student do you agree W|th and why? »

"o Brelt sald he ata the most
lea .>a|d she ate the most

| \

1/'% of lhe candy bar and Brett ate 1/4 of her candy bar

~ | Evidence: '




Student 4

Peer Feedback Argument Framé

| Problem: | . | Mathematical:Principle

Olivia and Brelt: are eating candy bars. Olivia ale 1/3 of the candy bar and Brett ate 1/4 of her candy bar. or Yocabulary:

e DBrelt sald he ate the most
& Qlivia said she ate the most .

"| Which student do you agree With and why?
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Student 5

3 Peer Feedback Argume\ét’#a e
: E[ob!em,

RS Ohvua and. Brﬂ lt—ﬂre L,atlng candy bars

Ollwa ale 1/'% of lhe candy bar ancdl” Brett ate 1/4 of her candy bar B

e Brelt sald he ata ‘the most
o Olula oald she ate the most

woRT Whlch studen( do you agree Wlﬂ‘l and why?
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Student 6

* Peer Feedback Argument.Frame

——mvm e s w s B i

Problem: .

o Brelt sald he ate the most
° Olma said she ate the most

Which student do you agree w;th and why?

Ohwa and Brﬁ-ll ‘are c,atmg candy bars. Qlivia ate 1/3 of the candy bar and Brett ate 1/4 of her candy bar
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Student 7

PeerPeRdback Argument Frame

Problem: . o N hé . lPrmcll

Ollwa and Bre lt ‘are s.atlng candy bars. Olivia ale 1/3 of the candy bar and Brett ate 1/4 of her candy bar or }[gcgbulal_x .

e Brelt sald he ate (he most
o ' Olivia said she ate the most

*| Which student do you ag‘ree with and why?
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